ERMAO (FH7F£9A1HRE)

X 4 AOAN) | HEHRAER)
KFEKXR 9 6
RFRK 113 56
K=F L5
WiF—TH 504 212
s =TB 671 350
I =TH 831 408
ILIZmTH 1,845 769
\FHETH 271 207
KFRKF 31 18
BAXF—TH 334 141
BAF_TH 1,100 407
BKE=TH 1,229 475
RAFWNTH 67 23
KFILHE 6 3
[LE—TH 1,207 488
LE_—TH 1,185 537
L3E=TH 713 313
[GEEMT B 1,388 626
LERATH 688 275
KEHF—TH 814 346
KEFE_TH 2.375 1,167
5E—TH 751 412
BEZTH 729 348
HFE=TH 2,191 1,045
RF&FH 28 10
BHF—TH 357 199
WHE_TH 980 383
WHFE=TH 300 117
RAEMTH 488 213
RAERTH 529 226
BEHE 337 160
L)III—TH 1,167 650
SINNIZ=TH 2,853 1,125
KFEE
=E—TH 446 179
EEZTH 550 268
=E=TH 1,007 420
=11 2,094 690
=WUE—TH 1,221 575
=WUE—-TH 1,365 730
ZFNith

=5 32,774 14,577




